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Year /7 — Reasoning with Number
Sets & Probability

the end of this unit uou should be able to:
entifyy and represent sets
hterprel and create Venn diagrams
Understand and use the. intersection of sefs
Understand and use the. union of sefs
Generate sample spaces for singe events
Caculate the. probabity of a single event
Understand and use the. probabilly scake
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Suggested reading

Want to know more?
Scan the QR code to
visit the curriculum
overview for Year 7

Matbhs, including topic

summaries, key
words, and books that
you may want to read
in your own time

Set: colection of things
Element: each ttem in a set is called an element

Union: two elipses that join (OR L)
Probabiity: ikelihood of an evert happening

| Fair: there is zero bigs, and all outcomes have an equa

Intersection: the overlappng part of a Venn diagram (GND )
Mutually Exclusive: events that do not occur at the same time

Bias: a bult-in error that maokes al vales wrong (unequadl) by a certain amount, eg a weighted dice

lkelhood

|| Random: something happers by chance and is unabke to be predicted
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| dentify and represent sefs | Interpret and create Vern didgrams : : Intersection of sets .z 3] |
| The universal set has this symbol & — this means | : HD B Mitualy exclosive sets I Eements n the ntersection are @ :
| EVERYTHING in the Vern didgyam s in this set | O Q The. two sets have. nothing n common | | nset A OND set B
: I: No cvertp ” The notation for this s 4 N B :
| (O set is a colection of things — you write : | Union of sets i 5 Il [
| Sets i ey brakes  } | : Tﬁ%ﬁiﬁ@?&ﬁﬁnﬁ @D I & - {the rumbers between | and 15 rcksive} |
: | | the intersecton ——_| : : A - {Mitivksof 5} B - {Mitipkes of 3} :
& = {the rumbers between | and 50 inchsive} I

|
: KK 5 : : 3 |
| My sets can rnchde every romber between | )| | Ol of 2t B cko in Set 0 50 | |
| and 50 ncludng those numbers | | the ellpse fits nside the set : | |

|
: A = {Square rumbers} | : | I :
| A -{14,9 16 25, 36,49} ) :leekmmtlnAnBusb |
| The box
[ | I Oround the outside of every Vern diggram wil be g box If an I b this example there is only one I
| lithe rumbers n set A are square number | | clement s not part of any set it 1s placed outsde an elipse bt | | number that & both a multile. of 3 I
L and between |and 50 |: e the box I and a mukpl. of 5 between |and 15 :
_____________ —_ e e
l______________{_ _______ }_.ll—_—__—___l_ _______________ =1
i ! * B| ¢ - {therumbers between land 15 nchswe -
: M d D A -{Mipksof5} B - (Miesof 3} | | Sampb Space — for Smle events . O Sample. space. represents a
Elements in the bl fi
cwldnfenrj stt A nga;t " : . The ekmentsin A U B are | : 0 sampke. space. for roling a six-sided possbe. ovtcome. trom an evert
s 5106396 12 | | dees §={1,2 34,56} « They can be nterpreled n
/L |
varety of ways because they do

There are. 7 elements that are etther a |
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mutivk of 5 OR a mutiple of 3 belween | } || _
Ela s B ad D | | 1
@ O~ Ths Vern shows the number of eements n eachset | | l
Il
(S ———— T ——
o o e & T T T M
| Probabity of a single event I The probabilty scak
I § ‘ . Probubilty = pumber of times event happens 1 | I } =
| ) total number of possible outcomes | | Impossibe Even chance. Certain
: @ ' PlBle) - 4 —There are 4 ble seclors] : Oor 07 0‘5,% or 507 lor 1007
0 There are 10 sectors |
| Probavity e | >
| notation "2 | The more lkely on event the further p the probubitty it
: P {mert) ’ : | - il be in comparison to ancther event
| Probabiity can be a fraction, decimal or percentage I : (II wil have. G Pfoboblhtg closer to )
vale
| : 1\ e® | /1/' N
| 4 -40 -040 -40r 1 o
I 0 00 | There are ,1 L |
| l | prkand There are 5 possibe outcomes
[ Probabllty i abicus 4 vabe between 0 and | : | yelow bals, so So 5 intervaks on ths sclaie, each
| | they have the terval vabe is
l \someprobapily S

0 sample. space for this spinner s
S = {Pirk, Blue, Yelow}

not tell you the probabilty

You only need {o write each element
once. in a sample space. diggram

11Sum of probabilties

Probabity is aiwaus a vale belween 0 and |
e
@]

The tabk shows the probabity of selecting a type of chocolate

Dark
Q15

Tre.probubiyof getting a bbe. bal & <
2<The procabity of NOT getiing a bhe bal & =
L ]

The sum of the probabities is |

Milk
035

White

Plwhte chocdale) = |- 015 — 035
=05




